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60m M60 | 4 9.21 -37 | = BWU FR 60
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100m M35 | 10| 12.88 +4.9 | B hE 36
100m M35 | 11 12.93 +49 | BH #E Rl 37
100m M35 |op| 1157 +39 | KPR G2 35
100m M35 DNS = FH BT 37
100m M35 DNS B3 E AH i 35
100m M40 | 1 11.84 -16 | =& HHE FR 40
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100m M45 | 8 13.36 -17 | = ARER BAI 47
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201554 A RET (A4 AARTRXS—X NM-001



100m M50 DNS =F EL N 54
100m M55 | 1 12.54 +02 | BN g —i 58
100m M55 | 2 12.64 -1.1 | 20 il R 57
100m M55 | 3 12.71 +0.2 | B EI 55
100m M55 | 4 13.17 -11 | = %k B 57
100m M55 | 5 13.23 -1.1 | IFB | MhAKE #gz | 58
100m M55 | 6 13.72 +0.2 | B2 —f& FM 55
100m M55 | 7 13.79 -11 | KB HH % 59
100m M55 | 8 13.89 -11 | = EE KR 57
100m M55 | 9 14.80 +02 | =& W 55
100m M55 | 10 15.86 +02 | = B E— 55
100m M55 |op| 13.69 -1.1 | KB EE HE 57
100m M55 DNS == FH BE# 56
100m M60 | 1 12.46 +08 | = #H = 60 GR
100m M60 | 2 13.20 +08 | = =11 = 60
100m M60 | 3 13.21 +0.8 | BN ngE fRth 60
100m M60 | 4 13.95 +08 | KB Wil ER 60
100m M60 | 5 14.27 +08 | = e & 60
100m M60 | 6 15.76 +0.8 | BN fEiE EFE 62
100m M60 DNS 250 A% St 60
100m M60 DNS ZH [GEi ] 60
100m M65 | 1 13.17 06 | = BEAR % 69 GR
100m M65 | 2 13.85 06 | = i A 68
100m M65 | 3 14.25 +0.6 | B4 EiE BE 67
100m M65 | 4 14.35 0.6 | IFE =2 &7 66
100m M65 | 5 14.68 +0.6 | BN MR EA 65
100m M65 | 6 15.53 +0.6 | BN E RERR 69
100m M70 | 1 14.71 +1.0 | IKE Hf BT 70
100m M70 | 2 15.18 +10 | = WA 5 72
100m M70 DNS = a5 E# 71
100m M75 | 1 15.24 +10 | = gk B2 78
100m M75 | 2 16.49 +1.0 | B mE k5 76
100m M80 | 1 19.66 -08 | IFE it BF] 82
100m M80 DNS ZH mnE RS 82
100m M85 | 1 19.75 -08 | B BH Z=x 86
100m M90 | 1 28.27 -08 | B Ftg B= 90
200m M25 | 1 24.08 +20 | = 2H EE 25
200m M25 | 2 24.52 +20 | B FH &N 28
200m M25 DNS = Nt FEEE 29
200m M25 DNS ZH A &x 29
200m M25 DNS 25 o #¥FE 25
200m M30 | 1 22.85 +30 | BA BiE Bt 31
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200m M30 | 3 26.18 +30 | IFE FE #E 32
200m M30 | 4 27.85 +30 | = KR EH 34
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200m M35 | 1 24.81 31 | = 5 FlE 36
200m M35 | 2 25.03 +3.1 = EH ER 39
200m M35 DNS B #iE Rl 37
200m M35 DNS I & NG RE 37
200m M35 DNS ] AH Fith 35
200m M40 | 1 24.35 +30 | BH0 EX ER 44
200m M40 | 2 25.03 +30 | BH0 B BRK 42
200m M40 DNS = FME FIR 40
200m M45 | 1 23.47 +33 | = FiE £ | 47
200m M45 | 2 23.89 +33 | IFE % i 46
200m M45 | 3 24.61 +33 | = BRIR & 49
200m M45 | 4 25.10 +33 | M ERE #Ea 47
200m M45 | 5 26.01 +33 | = KE BR 48
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200m M45 | 6 29.15 +33 | =& JEH K= 46
200m M45 DNS = EIIRELS 48
200m M50 | 1 23.71 +25 | B NG EF 51
200m M50 | 2 24.17 +25 | B Bin = 53
200m M50 | 3 25.57 +25 | BH | fEk #EF | 52
200m M50 | 4 27.95 +25 | IFE B B 52
200m M50 | 5 29.17 +25 | B AFE B— 52
200m M50 DNS = =l B4 53
200m M50 DNS ZH £H Bh 52
200m M50 DNS I B Bl FE 52
200m M55 | 1 25.21 +39 | BA g —i 58
200m M55 | 2 25.37 +3.9 | B il R 57
200m M55 | 3 26.91 +39 | = %k B 57
200m M55 | 4 26.96 +3.9 | IFB | /IAKE #Ez | 58
200m M55 | 5 27.63 +39 | BH =i 55
200m M55 | 6 28.82 +39 | =& BE BR 57
200m M55 | 7 33.08 +39 | = B E— 55
200m M55 |op| 2771 +3.9 | Kk EE HE 57
200m M55 DNS I & HH % 59
200m M60 | 1 27.23 +3.2 | B EE fkth 60
200m M60 DNS = HH F 60
200m M60 DNS B A% St 60
200m M60 DNS ZH [GEi ] 60
200m M65 | 1 28.00 31 | = BEAR % 69
200m M65 | 2 28.27 +3.1 = e EE 68
200m M65 | 3 29.12 +3.1 | B3 K Bf 67
200m M65 | 4 30.91 +3.1 | B3 EE BE 67
200m M65 DNS ZH MR R 65
200m M65 DNS ZH B BERD 69
200m M70 | 1 31.49 +43 | IKE Hf BT 70
200m M70 DNS F50 Bl FE 71
200m M75 | 1 32.38 +42 | = gk B2 78
200m M75 | 2 34.01 +42 | B mE xB 76
200m M75 DNS ZH FEE BE 76
200m M75 DNS ZH AR B 78
200m M80 | 1 48.93 +42 | IHE it BF] 82
400m M30 | 1 50.39 = ENN @ 32 GR
400m M30 | 2 55.13 I B SH A 32
400m M35 | 1 57.48 = RH £F 36
400m M35 DNS = EH R 39
400m M40 | 1 55.67 ZH B Bk 42
400m M40 | 2 59.61 ZH wis B2 41
400m M40 | 3| 1.01.61 25 XH % 41
400m M40 | op DNS AR PARR FRHL 44
400m M40 DNS = LIRS #F3h 44
400m M45 | 1 56.09 = RIR_BE 49
400m M45 | 2 57.02 5] ERE #Ee 47
400m M45 | 3 1.04.75 I BE FA 49
400m M45 |op|  59.90 N X 46
400m M50 | 1 1.00.44 B £H Bk 52
400m M50 | 2| 1.01.16 = B 5 52
400m M50 | 3 1.05.19 I B Bl & 52
400m M50 | 4| 1.08.38 25 AFE B— 52
400m M50 | 5| 1.09.17 = B #0th 53
400m M50 DNF = WA BA 50
400m M50 DNS = &l s 53
400m M50 DNS = WH BE 51
400m M50 |op| 1.06.00 HE NHE B 54
400m M55 | 1 59.19 B il R 57
400m M55 | 2 1.03.37 B #HME K 56
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400m M55 | 3 1.04.36 250 A #2z 56
400m M55 | 4| 1.04.60 250 Wi FH 57
400m M55 | 5 1.05.53 ] 2B Fih 56
400m M55 | 6 1.15.52 =F FZL EF 55
400m M60 | 1 1.04.24 ZH fngE Rt 60
400m M60 DNS = =1l K7 60
400m M60 DNS =g WE &=X 60
400m M60 DNS 250 AR St 60
400m M60 DNS ZH [GEi ] 60
400m M65 | 1 1.06.69 il Kk B 67
400m M65 | 2 1.07.59 = s EAE 68
400m M65 DNS = He & 65
400m M75 | 1 1.21.13 250 AR R 78
400m M75 | 2 1.22.68 = FH &3k 76
400m M75 | 3 1.25.53 ZH mE k5B 76
400m M75 | 4| 14414 = BR BX 78
400m M75 | 5 1.50.52 250 FEE BB 76
400m M80 | 1 1.44.38 I & hith B 82
400m M80 | 2 1.52.12 =E WA AR 81
800m M24- | 1 2.05.81 250 kil EiE 23
800m M24— DNS = E HE 23
800m M25 | 1 2.07.45 = Wil B& 27
800m M30 | 1 2.12.39 I & EH #A 32
800m M30 | 2| 2.19.39 = 2l #& 33
800m M30 DNS = X*E #H— 34
800m M30 DNS ZH Wik KE 33
800m M35 | 1 2.07.67 = AN A 37
800m M35 | 2| 2.09.39 ZH &k EB 38
800m M35 DNS = B8 3REA 36
800m M35 DNS I B #_XF 37
800m M40 | 1 2.07.20 = IRA R 41
800m M40 | 2| 2.18.11 = IR EE 44
800m M40 DNS = IR 473 44
800m M40 DNS % TIE B 42
800m M45 | 1 2.23.80 25 At & 47
800m M45 | 2| 22801 25 HR EZ 46
800m M45 | 3| 22974 = =M B 48
800m M45 | 4| 23449 = BiE - 47
800m M45 | 5| 24181 = FR EE 47
800m M45 |op| 2.44.46 AR HHE 47
800m M50 | 1 2.23.52 = BA<F F5a 52
800m M50 | 2| 2.26.46 5] s |- 50
800m M50 | 3| 229.22 = AR —HR 52
800m M50 | 4| 2.39.59 = Rl It 53
800m M50 | 5| 3.00.03 = Ba FA 54
800m M50 |op| 2.29.96 BB NH B 54
800m M55 | 1 2.27.94 % il & 58
800m M55 | 2| 23081 25 Hg {2 56
800m M55 | 3| 235.28 25 e ® 57
800m M55 | 4| 2.39.69 25 #E BEE 55
800m M55 | 5| 24827 B Rk IE 59
800m M55 | 6| 257.11 = ZFL EE 55
800m M60 | 1 2.27.87 = W Fx 60 GR
800m M60 | 2| 2.36.88 I B HE K 63
800m M60 | 3| 24048 = HE BEA 61
800m M60 | 4| 255.90 = R’ OBE 64
800m M60 | 5| 3.00.00 = X5 & 60
800m M65 | 1 2.50.48 = ki T& 66
800m M65 | 2| 31143 = Bl $FIE 67
800m M65 DNS = B & 65
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800m M65 DNS 250 AR FEih 66
800m M70 | 1 2.56.58 = =i B 70
800m M70 | 2| 256.92 = HEE HiE 71
800m M75 | 1 3.15.17 250 M BE— 7
800m M75 | 2| 33655 = X 77
800m M75 DNS I BB RE EE 75
800m M75 DNS == FH Sk 76
800m M75 DNS = BR BX 78
800m M85 | 1 4.16.67 ZH HFLE R 85 GR
1500m M24- | 1 4.32.04 = FiE Sk 22
1500m M24-| 2 4.39.70 = ERE 23
1500m M24- | 3| 45158 = AH KB 22
1500m M25 | 1 4.30.82 =E W L% 27
1500m M25 DNS = Bl Et 29
1500m M30 | 1 4.27.65 = 2l #F 33
1500m M30 | 2| 44825 ZH WE EF 30
1500m M30 DNS = X Eh— 34
1500m M30 DNS 250 Wik K¥ 33
1500m M35 | 1 4.2557 = AN 18 37 GR
1500m M35 | 2| 44299 = g8 FhEh 36
1500m M35 | 3| 456.37 B0 =E = 39
1500m M35 | 4| 6.08.97 = WE K 37
1500m M35 DNS I B #_Kal 37
1500m M40 | 1 4.22.91 = A R 41
1500m M40 | 2 4.28.54 ZH R 41
1500m M40 | 3| 4.36.85 = IR EE 44
1500m M40 | 4| 44182 % Nl ES 42
1500m M40 | 5| 4.47.96 = AH EE 42
1500m M40 | 6 | 44992 I & AH X% 43
1500m M40 | 7| 45824 = IEE #R 43
1500m M45 | 1 4.40.21 = #F FA 48
1500m M45 | 2| 44270 250 ple 47
1500m M45 | 3| 4.45.11 % mA BARER | 45
1500m M45 | 4| 456.14 25 At & 47
1500m M45 | 5| 459.18 = falE 46
1500m M45 | 6 | 50457 = BiE - 47
1500m M45 | 7| 5.08.23 = WE Tt 46
1500m M45 | 8 | 5.10.60 = =M B 48
1500m M45 | 9| 5.16.93 ZH Fx BE 48
1500m M45 | 10| 5.20.98 = FR EE 47
1500m M45 | 11| 5.27.20 I & SK_EE 48
1500m M45 |op| 5.34.56 AR HHE 47
1500m M50 | 1 4.49.64 = I==9N 54
1500m M50 | 2| 45518 = BiF [BA 52
1500m M50 | 3| 4.59.81 5] Jl#s = 50
1500m M50 | 4| 52249 = & fZ 51
1500m M50 | 5| 5.26.31 25 HE B 50
1500m M50 | 6 | 5.43.05 = thE HE— 54
1500m M50 | 7| 6.18.34 = Ba FA 54
1500m M50 DNS = £ —i8h 50
1500m M50 DNS = Rl Fth 53
1500m M55 | 1 5.01.28 % il & 58
1500m M55 | 2| 5.26.31 25 #E BEE 55
1500m M55 | 3| 54388 2 Rk IE 59
1500m M55 | 4| 556.49 = ZF EE 55
1500m M55 | 5| 6.04.82 250 [N 58
1500m M55 | 6| 6.39.27 = 2B EXEE | 55
1500m M55 DNS 250 Tl BE 58
1500m M60 | 1 5.26.65 I B HE K 63
1500m M60 | 2 | 54693 5] E EF 64
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1500m M60 | 3| 551.20 = B BE 64
1500m M60 | 4| 6.08.32 I BB FAHE BX 63
1500m M60 | 5| 6.35.50 250 #E -5 62
1500m M65 | 1 6.49.57 =F Bl 3FIE 67
1500m M65 DNS = He & 65
1500m M65 DNS 250 AR FEih 66
1500m M70 | 1 6.03.32 =F = 70
1500m M70 DNS = BN HE 72
1500m M75 | 1 6.34.14 250 AR B 76
1500m M75 | 2| 7.00.09 = B 77
1500m M75 | 3| 7.12.00 I BB A BEX 75
1500m M75 DNS 250 M BE— 71
1500m M75 DNS = BR BX 78
1500m M85 | 1 9.13.31 ZH HFLE R 85
5000m M24-| 1| 16.50.13 = EORE 23
5000m M24- | 2 | 17.06.50 =g FiE Sk 22
5000m M24- | 3 | 20.27.39 = AH KB 22
5000m M25 | 1| 1851.18 = Wil B& 27
5000m M30 | 1| 17.43.37 =E 2l #F 33
5000m M30 | 2| 17.47.89 ZH WE EF 30
5000m M35 | 1| 18.30.70 B0 =E = 39
5000m M40 | 1| 17.29.36 = AH EE 42
5000m M40 | 2| 18.05.97 = IR EE 44
5000m M40 | 3| 18.08.08 ZH ] EKEH 43
5000m M40 DNS = IEE R 43
5000m M40 DNS I B AH X% 43
5000m M45 | 1| 16.50.38 = TEH =B 47
5000m M45 | 2| 17.15.61 ZH de#k 47
5000m M45 | 3| 17.20.20 = #F FA 48
5000m M45 | 4| 17.53.34 % bR BARER | 45
5000m M45 | 5| 19.54.81 = WE it 46
5000m M45 | 6 | 20.49.18 I & K EE 48
5000m M45 DNS ZH WA 85 45
5000m M50 | 1| 17.22.50 = B E— 50
5000m M50 | 2 | 20.07.89 = #E —3h 50
5000m M50 | 3| 20.36.60 = At H— 54
5000m M50 DNS 25 HE R 50
5000m M50 DNF = & 51
5000m M50 DNS = AR —HB 52
5000m M55 | 1| 19.52.88 25 #E BEE 55
5000m M55 DNS = K ES 58
5000m M55 DNS ZH T _BE 58
3000m M60 | 1| 11.30.67 = HBE BA 61
3000m M60 | 2| 12.11.85 ZH (M RE 63
3000m M60 | 3| 12.22.71 = R’ OBE 64
3000m M60 | 4| 13.09.34 = WH HE 62
3000m M60 | 5| 13.31.48 Ik & AH EX 63
3000m M60 | 6 | 13.37.55 = kR IE— 63
3000m M60 DNS B #E ZH 62
3000m M65 | 1| 122857 25 izl - 67
3000m M65 DNS = Bl $FIE 67
3000m M70 | 1] 124889 = T HiE 71
3000m M70 | 2| 1259.35 B | MR R | T
3000m M70 | 3| 13.01.81 = =iE & 70
3000m M70 DNS = B HBE 72
3000m M75 | 1] 13.00.96 250 X B 76
3000m M75 | 2| 1341.15 25 AR & 76
3000m M75 | 3| 15.01.06 Ik & Hg X 75
3000m M75 | 4| 15.01.73 = B OEx 77
3000m M85 DNS B H#E R 85
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110mH M25 | 1 14.27 +1.7 | IFE YT Ihig 25 NMR
110mH M25 | 2 14.94 +1.7 | IFB 5 B 26
110mH M25 | 3 16.27 +17 | = HOo &X 27
110mH M30 | 1 18.68 +1.7 | IFB HE #E 32
110mH M30 DNS 250 i 2 34
110mH M35 | 1 16.18 +1.7 | B fEF R 39
110mH M40 | 1 15.20 +36 | =& K/NE fE— | 43
110mH M40 | 2 19.70 +3.6 | B HE ES 44
110mH M40 |op| 14.86 +36 | EFE EH B2 40
110mH M45 | 1 16.73 +3.6 | BAH FH FH 46
110mH M45 | 2 17.08 +36 | = kiR EFE 49
110mH M45 DNS I & WiE i 45
110mH M45 DNS % L1 & 49
100mH M50 | 1 15.53 +30 | BN HA B 53
100mH M50 | 2 16.68 +30 | BN A RE 50
100mH M50 | op DNS K& e BZ 50
100mH M50 DNS ZH TF BB 54
100mH M55 | 1 19.21 +35 | = EE KR 57
100mH M55 | 2 20.16 250 Wi FH 57
100mH M55 | op 16.19 +35 | HE T _#a3 58
100mH M55 DNS I & il EX 57
100mH M55 DNS 5] B #x 57
100mH M60 | 1 31.64 +19 | = NGRS 60
100mH M60 DNF ZH fEiE FE 62
100mH M65 | 1 19.63 +19 | %M Sl #E1T 67
100mH M65 DNS ZH FE —i& 69
100mH M65 DNS I B g EA 66
80mH M70 | 1 14.07 +37 | = 515 H#E 70
80mH M70 | 2 15.83 +3.7 | B NG BT 71
80mH M70 DNS F50 BE B 71
80mH M70 DNS I & REW B 70
80mH M70 DNS B3 A B IE 72
80mH M75 | 1 17.63 37 | = Al R#E 76
80mH M75 | 2 22.67 +3.7 | BN & KX 76
3000mW M24- | 1| 21.37.00 25 kil E#E 23
3000mW M30 | 1| 15.59.92 25 TE £ 34 GR
3000mW M30 | 2| 18.10.28 ZH S BiE 32
3000mW M50 | 1| 1557.95 = LRy JTE 50
3000mW M50 | 2 | 22.10.88 I & FE EA 51
3000mW M55 |op| 20.03.81 Rt =E H— 56
3000mW M60 | 1| 16.54.58 = WH HE 62
3000mW M60 | 2| 17.17.22 = R IE— 63
3000mW M60 | 3| 20.05.51 = kg EA 63
3000mW M60 | 4 | 21.25.01 = EiE A 62
3000mW M70 DQ B WE —/& 70
3000mW M75 |op| 21.16.36 N EH RE 75
=Bk M25 | 1 2.09 B B K3 27 NMR
&= Bk M40 | 1 1.65 = faE F5h 4
=Bk M40 | 2 1.60 B KH &#$ 4
=Bk M40 | 3 1.55 = AR R 42
&= Bk M40 | 4 1.50 =5 E B 44
=Bk M45 | 1 1.65 = T B 49
=Bk M45 | 2 1.55 2 WE &FA 48
=Bk M45 | 3 1.45 2 kH Ez 47
=Bk M50 | 1 1.50 2 NI B2 50
=Bk M50 | 2 1.35 I E Bk 8#5 51
E =Bk M50 | 3 1.35 B AE ER 54
E =Bk M55 | 1 1.50 % B &X 58
E =Bk M55 | 2 1.45 = B BB 57
E =Bk M55 DNS E56A hiE ¥ 55
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= Bk M60 | 1 1.40 250 FE EL 62

= Bk M60 | 2 1.40 250 Bl Ez 63

= Bk M60 | 3 1.35 E3 A ME 63

= Bk M65 | 1 1.35 I BB N8 &BA 66

E = Bk M65 | 2 1.30 B3 Shl #8817 67

E = Bk M70 | 1 1.15 ZH BE B 71

=Bk M75 | 1 1.15 =5 K R 76

BE Bk M25 | 1 4.80 5] i B 26 | NMRGR
BE Bk M40 DNS il INE S 43

BE Bk M45 | 1 2.60 ZH %k FA 49

BE Bk M50 | 1 3.60 ZH A RE 50 GR
Bk M50 | 2 3.00 il MR B | 52 =GR
BE Bk M55 | 1 2.50 ZH #HE 58

BE Bk M55 NM 250 w2 59

Bk M55 DNS = R BA 57

BE Bk M60 | 1 2.00 250 Ml BEx 62

BE Bk M60 DNS % A KA 63

BE Bk M65 | 1 2.20 = BE 24 66

BE Bk M65 | 2 2.10 250 FE —i 69

BE Bk M65 DNS ZH Fa BX 65

Ea Rk M70 | 1 2.30 ZH RE B 71 GR
Ea Rk M75 | 1 2.00 ZH B3I B 75

FENE Bk M25 | 1 6.28 22 | = I=F-" 26 GR
FENE Bk M25 | 2 6.08 -1.7 | B0 g BE 28 GR
FENE Bk M25 | 3 5.25 -09 | = Bk Kig 25

FENEHK M25 | 4 495 -14 | = FiE BEE 26

FENE Bk M30 | 1 452 -29 | KB FE #E 32

FENE Bk M30 | 2 4.21 -23 | = FiR Bk 34

FENEHK M40 | 1 6.14 22 | = e #BE 42

FENEBK M40 | 2 5.77 -06 | EBAH £H HEE 41

FENE Bk M40 | 3 5.27 -13 | ER 2E B 44

FENEHK M40 | 4 5.22 -14 | = 2B EA 41

ENE Bk M40 | 5 4.78 21 | = NI 4 44

ENE Bk M40 DNS = FX Rt 42

ENE Bk M40 DNS = AR X 40

ENE Bk M40 DNS I 2 KH _5F 41

ENE Bk M45 | 1 6.12 -20 | BAH WE #FA 48

ENE Bk M45 | 2 4.72 02 | = E% BX 47

ENE Bk M45 | op R BAR —% 46

ENE Bk M45 DNS = PLEH RE | 47

FENEHE M45 NM % i & 49

ENE Bk M50 | 1 5.59 20 | B0 NI 182 50

ENE Bk M50 | 2 5.01 -23 | = £ 1A 52

ENE Bk M50 | 3 4.13 -17 | = 5% 1B 53

ENEBk M50 DNS = FEIES 51

ENEBk M50 DNS = Bl FOA 54

ENEBE M55 | 1 5.66 -22 | M hiE 2 55 GR
E MRk M55 | 2 5.00 -19 | BH0 E 55

ENEBk M55 | 3 4.76 -12 | BH A kT 58

FENEBE M55 DNS 25 Wi 59

FENEBE M55 DNS = A B 57

ENEBk M60 | 1 4.43 -28 | = HBR_ 17F 63

ENE Bk M60 | 2 4.16 -31 | = Rl BB 62

ENE Bk M60 | 3 3.45 -30 | = NG 60

ENE Bk M60 DNS I B Wil ER 60

ENE Bk M65 | 1 4.19 -32 | IFE ER Al 66

ENEBE M65 | 2 3.74 -25 | = X8 FA 68

ENEEE M65 DNS BAI FE —ig 69

ENEBE M65 DNS I & 5E &7 66

ENEBE M70 | 1 3.55 00 | =40 KE #th 73
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M70 | 2 2.86 21 | = Tk Bt 71
M70 DNS Iz B REIRF 8K 70
M70 DNS ] B IE 72
M75 | 1 3.88 -08 | =& Ke BE 78
M75 DNS = T R 77
M80 | 1 2.74 -1.8 | B R R— 83
M25 | 1 11.60 +0.9 | B3 tHE &N 28 GR
M25 DNS I B YT B 25
M35 | 1 10.22 +0.8 | IKE 2 S8 38
M40 | 1 11.90 -1.1 | B 2 =7 43
M40 | 2 11.23 +05 | EH =HE B 44
M40 | 3 11.16 +08 | = TH % 41
M40 | 4 10.69 +06 | = 28 A 41
M40 DNS I BB RKH _SF 41
M45 | 1 11.23 +05 | = ey Z89 49
M45 | 2 9.38 +01 | =& PLEH RE | 47
M45 DNS F50 o sf 45
M50 | 1 11.63 +0.5 | BH NI 82 50
M50 | 2 9.44 -09 | = BN 52
M55 | 1 12.43 2.2 | B hiE F 55 GR
M55 | 2 11.36 -01 | B0 g B2A 55
M55 | 3 11.05 +27 | BH tE EFE 58 10.33 +1.2
M60 | 1 9.91 -06 | = Rl BB 62
M60 DNS = HBR_ 17F 63
M65 | 1 9.63 -18 | KB EH A 66
M65 | 2 8.03 02 | = XH FA 68
M70 DNS I & REW B 70
M75 | 1 9.29 +16 | = K& BE 78 =GR
M75 | 2 7.16 +33 | = TN R 77 6.99 -0.3
M75 | 3 6.12 -02 | B & KX 76
M80 | 1 6.30 +1.1 | %M R ®— 83
M80 | 2 5.63 +16 | = WA AR 81
ST RERBK M25 | 1 15.10 00 | = g —H 28
EAT M25 | 2 14.86 0.0 I 2 FH EF 26
EAT M30 | 1 15.86 00 | = R st 30
IR ERBK M30 | 2 14.65 0.0 ] hE E— 34
IR ERBK M30 | 3 14.03 0.0 = HH RKE 30
EAZT M30 | 4 13.79 00 | = EENEE 30
IR ERBK M35 | 1 14.81 0.0 = HH BT 37
IR ERBK M35 | 2 14.71 0.0 = B RA 37
IR ERBK M35 | 3 12.91 0.0 = T RER 38
IR ERBK M40 | 1 14.27 0.0 = 2% EA 41
EAZT M40 | 2 13.19 00 | = FHE #5h 41
IR ERBK M40 | 3 12.59 0.0 ZH HE ES 44
EAT M40 | 4 12.47 00 | = WA %R 40
I F Rk M40 DNS Ik & kB S 41
IR ER B M45 | 1 13.91 0.0 B WE #FA 48
LR ERBE M45 [op| 10.94 0.0 N X 46
3L F Bk M45 |op| 12.47 00 | FH BEAX —5 46
IR ERBK M45 DNS = fRER 2 Al 47
3L F Bk M50 | 1 13.14 00 | = ESIE: 52
IR ERBK M50 | 2 12.52 0.0 = WH BE 51
IR ERBK M50 | 3 11.57 0.0 25 E3: M FS 54
I F Bk M50 | 4 11.25 0.0 I BB Bk 8#5 51
IR ERBK M50 | 5 11.14 0.0 250 il ki 54
I F Bk M50 | 6 10.70 00 | = FIER = 50
I F BBk M50 |op| 12.18 00 | R N BZ 50
3L F Bk M55 | 1 13.88 00 | #mE hiE 55
I F Rk M55 | 2 12.55 00 | = & mE 57
LR ERBK M55 | 3 11.97 0.0 250 8 EHR 55
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IR ERBK M55 | 4 10.42 0.0 =F B BE 58

IR ERBK M55 |op| 13.31 0.0 3 T #& 58

IR ERBK M55 DNS ZE50 W #817 57

IR ERBK M55 DNS 250 #HE 58

IR ERBK M60 | 1 12.83 0.0 = Rl E8 62

IR ERBK M60 | 2 12.49 0.0 = HBR 17F 63

IR ERBK M60 | 3 11.73 0.0 E3 A hHE & 63

IR ERBE M60 | 4 11.37 0.0 = RiR & 63

I F BBk M65 | 1 11.38 0.0 I 2 EH A 66

31 F BBk M65 | 2 10.69 0.0 =E XH FA 68

IR ERBK M70 | 1 10.24 0.0 250 Sl & 74

31 F BBk M70 DNS = 515 HE 70

IR ERBK M70 DNS il B IE 72

31 F BBk M75 | 1 10.23 0.0 = N R 77

IR ERBE M75 | 2 9.09 0.0 ZH & BKX 76

31 F BBk M80 | 1 8.85 0.0 il R E— 83

I F BBk M80 | 2 7.87 0.0 = WA AR 81

31 F BBk M85 | 1 7.46 0.0 I B BNt x5 86

ik M35 | 1 10.63 == hf RHER 38 7.26kg
afik M40 | 1 6.84 = A B 41 7.26kg
Fahig M45 | 1 7.07 = B G 47 7.26kg
ik M50 | 1 9.74 B30 JEHE EE 52 6.00kg
ik M50 | 2 9.58 = e FEt 54 6.00kg
ik M50 | 3 8.40 = NG BR— 52 6.00kg
ik M50 DNS ZH X0 #3F 51 6.00kg
FatLE M55 9.83 = W =T 56 6.00kg
FatLE M55 9.03 ZH =4 58 6.00kg
FatLE M55 DNS ZH #ME K 56 6.00kg
ik M60 | 1 10.41 = FiE B 61 5.00kg
ik M60 | 2 9.95 I B [ BE 61 5.00kg
A& M60 | 3 8.40 B30 hE E 63 5.00kg
A& M60 | 4 7.98 = 2% g 63 5.00kg
Atk M60 | 5 6.85 = i EA 62 5.00kg
Atk M65 | 1 11.21 ZH L) 69 5.00kg
FatLiE M65 | 2 9.52 = a3 65 5.00kg
FatLiE M65 | 3 7.03 I B2 =A H|k 67 500kg
FatLiE M65 | 4 6.53 ZH ZH & 66 5.00kg
FatLiE M65 | 5 6.37 ZH 2R ' 69 5.00kg
FatLiE M70 | 1 11.33 ZH Sl g 74 4.00kg
Atk M70 | 2 10.43 I & B B 74 4.00kg
FatLiE M70 | 3 7.73 ZH AT EE | T 4.00kg
FatLiE M70 | 4 7.56 = FiE FE 74 4.00kg
FatLiE M70 | 5 7.48 = E& Bh= 72 4.00kg
FatLiE M70 | 6 7.27 = )l EH 70 4.00kg
A% M75 | 1 10.54 B 1Tz e 1| 78 4.00kg
AL M75 | 2 7.35 B EH BF 79 4.00kg
A% M75 DNS I & B EE 75 4.00kg
A% M80 | 1 7.94 B ERE BN 84 3.00kg
AL M95 | 1 4.37 I =k B 95 3.00kg
[k 5 M30 | 1 23.53 B x R— 30 2.00kg
[k 5 M35 | 1 31.13 = t RE 38 2.00kg
[k 5 M40 | 1 24.66 B g FE 42 2.00kg
(k5 M45 | 1 13.41 = PLE RE | 47 2.00kg
(k5 M50 | 1 36.48 2 E3: M FS 54 GR 1.50kg
(k5 M50 | 2 23.97 B3R IR EE 52 1.50kg
(k5 M50 DNS 2 X0 #F 51 1.50kg
[RE3d M55 | 1 32.34 = MHF =T 56 1.50kg
8% M55 | 2 28.16 250 $E EZ 58 1.50kg
AR M55 | 3 27.30 = B EE 58 1.50kg
8% M55 | 4 26.86 B Wi #8471 57 1.50kg
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[RE o M55 | 5 25.97 % HfE &X 58 1.50kg
[RE o M60 | 1 3251 % it 18— 64 1.00kg
[RE o M60 | 2 31.95 I & M B 61 1.00kg
[RE- 5 M60 | 3 29.97 =F Bk & 61 1.00kg
b3 M60 | 4 27.24 = 2% g 63 1.00kg
b3 M65 | 1 35.88 ZE50 hR # 69 1.00kg
MR M65 | 2 34.35 =F fFE IE 65 1.00kg
g% M65 | 3 33.86 = ak & 69 1.00kg
g% M65 | 4 25.83 IR E B EA 66 1.00kg
g% M65 | 5 23.82 55E XA+ B2 67 1.00kg
g% M65 | 6 18.17 3= Fuin =4 66 1.00kg
A #g% M70 | 1 24.91 = )il 70 1.00kg
A #g% M70 | 2 20.99 = B FE 74 1.00kg
A #g % M70 | 3 20.26 ZH BTE EE | 71 1.00kg
A #g % M70 DNS = g BE 71 1.00kg
[EE 3o M75 | 1 21.45 250 EH BF 79 1.00kg
g% M80 | 1 25.33 = Bl & 81 1.00kg
[EE 3o M80 | 2 22.69 250 R BEM 84 1.00kg
Nov—i% M25 | 1 27.60 I B YT IhiE 25 7.26kg
Nov—% M40 | 1 38.17 ZH g B2E 42 7.26kg
NoT—% M40 DNS = B E—BB | 43 7.26kg
Nov—% M45 | 1 30.37 =E B G 47 7.26kg
NoT—i% M45 | 2 25.29 EH HiE & 49 7.26kg
Nov—% M50 | 1 4573 % HiE FE 52 GR 6.00kg
NI—% M50 | 2 20.66 = INEF BR— 52 6.00kg
NoI—% M55 | 1 36.90 % Eik HE 57 6.00kg
NoT—% M55 | 2 32.01 = HHF RIT 56 6.00kg
NoT—% M55 | 3 14.28 = B EmE 58 6.00kg
Nov—i% M60 | 1 15.89 = EiE EA 62 5.00kg
NoT—% M65 | 1 38.36 ZH i) 69 5.00kg
Nov—i% M65 | 2 20.02 Edil shl BEAT 67 5.00kg
NoT—% M70 | 1 31.75 F50 HTE EE [ 71 4.00kg
NoI—% M70 | 2 24.52 = d)Il_IET 70 4.00kg
NoI—% M75 | 1 44.03 ZH 1Tz e 1| 78 4.00kg
NoI—% M80 | 1 27.63 = I 81 3.00kg
NoI—% M80 NM ZH AR BN 84 3.00kg
NoI— M95 | 1 11.30 Bl =k B 95 3.00kg
PYE M25 | 1 49.04 = INAR B | 29 0.80kg
oY% M30 | 1 53.27 = Wx && 34 GR 0.80kg
oY% M30 | 2 32.03 25 ke R— 30 0.80kg
PYE M35 | 1 40.00 = B IEig 39 0.80kg
PYE M40 | 1 53.35 ZH EH ER 4 GR 0.80kg
PYE M40 | 2 46.80 ZH & B 43 0.80kg
PYE M45 | 1 44.41 % Al —5h 49 0.80kg
Y M45 | 2 41.63 = M RA 49 0.80kg
Y M45 | op DNS MPulL|  JIE E# 47 0.80kg
Y M50 | 1 48.32 B iR 488 50 0.70kg
Y M50 | 2 34.17 I B 28 ¥R 52 0.70kg
Y M50 | 3 29.34 = FIER = 50 0.70kg
Y M50 DNS = it FE 54 0.70kg
Y M55 | 1 44.21 5] B EH 56 GR 0.70kg
Y M55 | 2 4210 I & AR R 59 0.70kg
PYE M55 | 3 29.44 2 Wi FH 57 0.70kg
Y M60 | 1 35.49 2 fl ®Z+ 60 0.60kg
Y M65 | 1 30.18 B3R B B 67 0.60kg
Y M70 | 1 33.12 250 Sl g 74 0.50kg
Y M80 | 1 25.98 = I 81 0.40kg
Y M80 DNS 5] il & 81 0.40kg
60m W24- | 1 8.44 -29 | BH FiE 2l 22
60m W24- | 2 9.01 -29 | = WA Fm 18
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60m W24- DNS =g INEFE F4E | 18

60m w25 | 1 8.17 2.9 | 2 WA EH 27 GR
60m W25 | 2 8.98 2.9 | 2 B HTE 27

60m W30 DNS = g ¥ 30

60m w35 | 1 8.39 -28 | EH R FH 39

60m w35 | 2 11.16 -28 | = EIR RE 39

60m W40 | 1 9.40 -28 | KB AE &F 42

60m W40 | 2 9.58 -28 | = TH BE 42

60m W40 | 3 10.10 -28 | = E¥ EF 42

60m W40 DNS ZH Ef BT 44

60m w45 | 1 8.73 -1.9 | 2 EH KT 45

60m W45 | 2 8.95 -1.9 | BH il H<H | 47

60m W45 | 3 9.54 -25 | = #iE 5E8F | 49

60m W45 | 4 10.04 -25 | = RE K& 45

60m W45 | 5 10.05 -25 | = Sl fE 46

60m W45 | 6 10.47 -19 | =& B HF 48

60m W45 | 7 10.89 -19 | = RE &K 47

60m W45 | 8 11.06 -19 | = He {EIF | 46

60m W45 DNS =E AR FRE 45

60m W45 DNS E5 2E BF 46

60m W50 | 1 9.07 -1.6 | B0 &7 EF 54

60m W50 | 2 9.33 -16 | EH ZH M 52

60m W50 | 3 9.53 -16 | = Xl EXE | 54

60m W50 | 4 11.03 -16 | = i3 52

60m W50 DNS = BIE B 51

60m W55 | 1 9.17 -34 | B M FEF | 55

60m W55 | 2 9.19 -34 | M@ #wAR E& 56

60m W55 | 3 9.50 -34 | BA Bl IEF 58

60m W55 | 4 9.54 -34 | = EfFs =F | 56

60m W60 DNS = & #BF 60

60m W75 DNS % BR XF 79

100m W24- | 1 13.13 -0.2 | B FiE Bl 22 GR
100m W24- | 2 14.21 -02 | = WA #m 18 GR
100m W24- DNS = NEFE F4E | 18

100m W25 | 1 13.25 -02 | BH K BE 28

100m W25 | 2 14.02 -02 | BAH B HTE 27

100m W25 DNS ZH WH EH 27

100m W30 DNS = 2 KT 30

100m w35 | 1 13.27 +0.6 | E¥% R 39

100m W35 | 2 14.33 +06 | EBAH BiE BT 39

100m w35 | 3 17.89 +06 | = ER RE 39

100m w45 | 1 13.58 +1.7 | BH EH KT 45

100m w45 | 2 14.09 +1.7 | BH W $H<H | 47

100m w45 | 3 14.35 +17 | = #E "5EF | 49

100m W45 | 4 14.56 +1.7 | BH0 ¥ Hay | 48

100m W45 | 5 15.64 +17 | = Al f0E 46

100m W45 | 6 16.67 +17 | = B T 48

100m W45 DNS 25 2F BF 46

100m W50 | 1 13.42 +10 | BH0 X BHE 52 GR
100m W50 | 2 13.89 +1.0 | B0 27 E¥ 54

100m W50 | 3 14.87 +10 | = Xl E+x | 54

100m W50 | 4 15.24 +10 | = EE Bx 53

100m W50 DNS = BIE B 51

100m W55 | 1 13.96 +1.5 | B0 Mt FEZF | 55| NMRGR
100m W55 | 2 14.21 +15 | B B E& 56 GR
100m W55 | 3 14.99 +15 | = EfFE =F | 56

100m W55 | 4 15.06 +15 | BH0 Bl EF 58

100m W55 | 5 17.44 +15 | = =t 55

100m w60 | 1 16.84 +04 | = =i FF 61

100m W60 DNS = & BF 60

201554 A RET (A4 AARTRXS—X NM-001



100m W75 DNS f334 BR XF 79
200m W24- | 1 26.52 +1.4 | B Bk B 22 GR
200m w25 | 1 26.81 +1.4 | B K BE 28 GR
200m W25 | 2 28.96 +1.4 | B B HTE 27
200m W25 DNS 250 WA EH 27
200m W35 DNS f334 R FH 39
200m W40 | 1 30.42 +14 | = TH BE 42
200m w45 | 1 30.07 +40 | B0 ¥ Hay 48
200m W45 | 2 32.48 +40 | = Sl #E 46
200m W50 | 1 28.64 +4.0 | BH =¥ EF 54
200m W50 | 2 32.20 +40 | = EE Bx 53
200m W50 | 3 32.51 +40 | = Xl EEXE | 54
200m W55 | 1 29.75 +40 | #M #wAR £& 56
200m W55 | 2 30.54 +40 | B0 HMEH BHiCF | 58
200m W55 |op| 30.85 +40 | EE AR BF 56
400m W45 | 1 1.36.89 == He {EIF | 46
400m W50 | 1 1.15.20 = EE Bx 53
400m W50 | 2 1.38.92 = SH ER 50
400m W55 | 1 1.10.35 250 HMEH BHiCF | 58
400m W55 | 1 1.11.00 = 1k <HF 55
800m w35 | 1 2.40.41 = % 828 37
800m W45 | 1 2.54.50 K2 | KBy EmE | 48
800m W45 | 2| 25752 = 4t BEF 47
800m W50 | 1 3.07.67 = =B B+ 54
800m W55 | 1 3.37.15 B HH SEH 58
800m W70 | 1 3.25.38 = X [E54 | 70 GR
1500m W25 | 1 5.39.92 = g ZC3 27
1500m w35 | 1 5.18.72 = % 828 37 GR
1500m W40 DNS = A EF 40
1500m w45 | 1 5.41.69 = i EF 48
1500m W45 | 2 | 547.28 K2 | KBy EmE | 48
1500m w45 | 3| 55187 = JIdt BEF 47
1500m W50 | 1 5.36.56 = WA B¥ 51
1500m W50 [ 2| 55229 ZH BN B 50
1500m W50 [ 3| 6.06.59 ZH Bl BT 54
5000m W40 |op| 19.33.31 HE I 42
5000m W40 DNS = A EF 40
3000m W50 | 1| 125275 ZH Bl BT 54
3000m W50 DNS ZH BN B 50
3000m W55 | 1| 15.26.15 ZH KH IEH 58
3000m W70 | 1] 14.07.28 = X [E54 | 70
100mH W35 | 1 20.39 +44 | = T BEF | 39
80mH W40 | 1 12.74 +45 | EH Bl EE 41
80mH W40 | 2 14.94 4 | IFEB B &F 42
80mH W50 | 1 14.85 +44 | EH ZH 5T 52
80mH W50 DNS B ®BE BT 53
80mH w60 | 1 15.61 +23 | = =i FF 61
80mH W60 DNS = & BF 60
80mH W70 | 1 18.88 +23 | M B EF 73
3000mW W55 | 1] 214211 25 RHE LEE |55
3000mW w60 | 1 [ 21.31.17 25 WE B¥ 61
3000mW w65 | 1| 19.07.98 Y | XE EHKF | 67
=Bk W40 | 1 1.33 % Bl &5 4
=Bk W45 | 1 1.45 2 £ #F 47
=Bk W45 DNS 2 L2E BF 46
=Bk W55 | 1 1.15 = wa &F 55 =GR
E =Bk W60 | 1 1.09 B A+ FH 61
Bak w35 | 1 2.20 BAI IR BT 38
Bak W55 | 1 2.10 = R EF 55
Bak W70 | op 1.60 Nl By »HYC 70
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W30 DNS =g g ¥ 30
w35 | 1 4.37 +09 | = T BEF | 39
W40 | 1 4.50 +1.4 | KB AE &F 42
w40 | 2 4.22 +15 | =8 | B E£FEF | L&
w40 | 3 4.02 +09 | = JIE ME=E | 4
W45 | 1 4.50 -01 | KB | BH EEF | 46
W50 | 1 4.55 -02 | E% ZH AT 52 GR
W50 | 2 4.31 +04 | EH mE F 51
W50 | 3 3.87 -0.1 = =E B+ 54
W55 | 1 3.74 +16 | = £k <HF | 55
W55 | op 4.03 02 | EE XA BAF 56
W60 | 1 3.91 +16 | = =i ¥ 61 GR
W65 DNS RE | XKAMA BEF | 69
W75 DNS % BR XF 79
w35 | 1 8.84 -03 | = T BEF | 39 GR
w45 | 1 9.54 +1.3 | IFB | BH XBEF | 45
W50 | 1 10.46 +20 | E%H mE F 51 GR
w60 | 1 7.39 +21 | B AR L 61 7.36 -0.1
W65 DNS ¥ | XKAM@ BEF | 69
EA T W40 | 1 10.67 0.0 = TH BE 42
I REREK W40 | 2 10.36 0.0 F50 Ef 8T 44
IR ERBK w45 | 1 10.35 0.0 ZH £ T 47
IREREK W45 | 2 10.15 0.0 = #E "5EF | 49
IR ERBK W45 | 3 9.96 0.0 ZH ¥ Hay 48
EA2T W50 | 1 10.40 00 | = =E B¥ 54
EA2T W55 | 1 10.99 00 | = 1k <HF | 55 NMR
IR ERBK W55 | 2 10.09 0.0 = EfFs =F | 56
EAT W55 | 3 9.56 00 | =& Bl IEF 58
IR ERBK W55 [op| 1044 0.0 EE AR BF 56
IR ERBK w60 | 1 10.29 0.0 ZH AF L 61
IREREK W65 | 1 11.67 0.0 R KHRM BEF | 69 NMR
ik W30 | 1 6.30 ZH B =RF | 3 4.00kg
Atk W40 | 1 9.12 ZH WA Ef 44 4.00kg
Atk W45 | 1 9.09 = EZIE BF | 49 4.00kg
FatLiE W50 | 1 8.46 ZH k% BY 50 3.00kg
FatLiE W50 | 2 7.1 = BT 4 52 3.00kg
FatLiE W50 | 3 6.19 = Sl ER 50 3.00kg
FatLiE W55 | 1 7.14 ZH BH LEX 55 3.00kg
FatLiE W55 | 2 6.65 = & B 57 3.00kg
Atk W70 DNS = B =R | T 3.00kg
FatLiE w80 | 1 6.54 = PiEE BEF | 80 2.00kg
FatLiE W80 | 2 5.82 = )i RF 81 2.00kg
MR W45 | 1 31.00 = EZIE BF | 49 1.00kg
MR W50 | 1 25.24 ZH k% BT 50 1.00kg
[k 5 W55 | 1 23.20 = JIiE BHHHZE | 58 1.00kg
[k 5 W55 | 2 15.45 B BH LEX 55 1.00kg
[k 5 W70 | 1 20.25 B ngE B}F 73 1.00kg
[k 5 W70 [op| 1717 L B HYZ 70 1.00kg
[k 5 w80 | 1 16.75 = ity EF | 80| NMRGR | 0.75kg
NoT—i% W70 | 1 23.74 B ngE B}F 73 GR 3.00kg
PYE W30 | 1 8.18 B B ZRrF | 3 0.60kg
PYE W40 | 1 24.44 IFE | FIE HIE | 4 0.60kg
PYE W40 | 2 21.45 % Bl &5 4 0.60kg
Y W45 | 1 27.73 = Bl &HEY | 45 0.60kg
PYE W50 | 1 21.06 = ZH# BT 51 0.50kg
PYE W50 | 2 17.65 2 &k BF¥ 50 0.50kg
Y W50 | 3 17.15 = SH #ER 50 0.50kg
PYHE W55 | 1 31.71 BRI | I\ FEF |55 GR 0.50kg
PYE W70 | 1 25.15 E56A #HKRK 8F 73 0.50kg
Y W70 DNS = B =hiK | T 0.50kg
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